
cluster number)

[ optional ]

PRE script

POST script

[ optional ]

HTCondor job(s)

or  Stork job

(with a single



A

B C

D



DIAMOND+A

DIAMOND+B DIAMOND+C

DIAMOND+D

Y

X



A

D

B C

E F G



A

X1+A X1+B X1+C

B

X1+D

X1+E X1+F X1+G

X2+A X2+B X2+C

X2+D

X2+E X2+F X2+G



A

B C

D

S2+A S2+B S2+C

S2+D

S2+E S2+F S2+G

S3+A

S3+X1+A S3+X1+B S3+X1+C

S3+B

S3+X1+D

S3+X1+E S3+X1+F S3+X1+G

S3+X2+A S3+X2+B S3+X2+C

S3+X2+D

S3+X2+E S3+X2+F S3+X2+G



C1
Splice C

A1 A2 Splice A

B4B3B2B1 Splice B

po1

pi1 pi2

pi1 pi2

po2 po3 po4

po1 po2

pi3 pi4



\



210



220



230



240



t = c + kn



t



c



k



n



t = 9 + 2.00



n = 0



1st



t = 9 + 20 = 9 + 1 = 10 seconds



2nd



n = 1



t = 9 + 21 = 9 + 2 = 11 seconds



3rd



n = 2



t = 9 + 22 = 9 + 4 = 13 seconds



6th



n = 5



t = 9 + 25 = 9 + 32 = 41 seconds



9th



n = 8



t = 9 + 28 = 9 + 256 = 265 seconds



13th



n = 12



t = 9 + 212 = 9 + 4096 = 4105 seconds



M



M − 1



This section has not yet been completed



This section has not yet been written



A



B



C



u



πr(u, t)



δt



πr(u, t) = β × πr(u, t− δt) + (1− β)× ρ(u, t)



ρ(u, t)



β = 0.5δt/h



h



πe(u, t)



πe(u, t) = πr(u, t)× f(u, t)



f(u, t)



β



1012







MyType = "Machine" TargetType = "Job" Machine = "froth.cs.wisc.edu" Arch = "INTEL"

OpSys = "LINUX" Disk = 35882 Memory = 128 KeyboardIdle = 173 LoadAvg = 0.1000

Requirements = TARGET.Owner=="smith" || LoadAvg<=0.3 KeyboardIdle>15*60



- (unary negation) (high precedence) * / + - (addition,

subtraction) < <= >= > == != =?= =!= || (low precedence)



∗





[



]



|



>=



=


